20234 QMWL ASO0ISE X HEH 3X =& Gl&A S2H
= AL = N__=

3XF=E | JIEA = 3XFE | JIFEMAH BZ

E 479,412 479,412 s oA 479,412 | 479,412 =
22Xz 479,212 479,212 AFEHI 314,869 | 358,130 | —-43,261
2Xa2+Y 479,212 479,212 Ol H| 266,927 | 266,927 -
NZREXZ | 479,212 479,212 =0 174,024 | 174,024 -
M= 45,997 45,997 -

AR = 5,189 5,189 -

gH3Y S XFYS 19,865 19,865 -

MNAEERES 21,852 21,852 -

JIEt= A H| - - -

g =&l 7,280 7,280 -

Jl 223yl 1,680 1,680 -

ESES N u] 5,400 5,400 -

3|2l Hl 200 200 -

23| 40,662 83,923 | —43,261

04 bl 3,000 3,000 -

+=EHH =8 23,252 18,302 4,950

3323 6,890 6,890 -

MAlS 3 2,100 2,100 -

AHEHH] 250 250 -

JIEt2ZH| 5,170 5,170 -

0l & Hl - 48,211 | -48,211

Sz - - M A&FEAH| 44,061 800 43,261
S+ - - Al &HI 44,061 800 43,261
NE=ES - - A&l 29,692 300 29,392
HAEZ=AZ - - AHétE =H| 13,869 - 13,869
A& EHIS XY 500 500 -

FSEaged 200 200 At HI 120,282 | 120,282 -
=g 200 200 2 SEALRI B 120,282 | 120,282 -
JIEFOI 20l RF4= & 200 200 S22 AIE | 11,142 11,142 -
HEOIE XA AL 38,530 38,530 -

SN 2 AY 20,000 20,000 -

NELSKIAAS 17,420 17,420 -

SSREZ2U=S 25,000 25,000 -

FE H2HcldE 8,190 8,190 -

oldIdgl & JIE 200 200 -

olglbl & JIEt 200 200 -




20239 & =& E2X =& & S2H
o N B
i =
3XF=F | JIEM & 3XN=E | JIE0e B2
289,630 | 289,630 = = 289,630 | 289,630
289,580 | 289,580 AFSHI 225,180 | 225,180
289,580 | 289,580 ol I 185,006 185,006
289,580 | 289,580 =0 102,548 102,548
Ha=g 16,591 16,971
U223 39,100 39,350
55555 12,041 12,041
MelEEReS 14,726 14,096
JIEHE A Y| - -
=8| 1,080 1,080
Jl 223l 1,080 1,080
23| 39,094 39,094
o1l 840 840
e =CIE 19,046 19,046
2223 7,800 7,800
HANS3= 800 800
JIEH2 G H 10,608 10,608
SAZ+ - - M A= A H| 6,100 6,100
SE==Y - - Al &I 6,100 6,100
NI = - - Al &l 500 500
HIXIEZR2 - - XHaks S 4,600 4,600
Al EHI R X 1,000 1,000
rSEed 50 50 AHHI 58,300 58,300
ISEas 50 50 U BtALH 58,300 58,300
JIEHOI 201 R4 50 50 U BEAFIH] 47,600 47,600
Fena M=l 10700 | 10,700
OllHIHI & JIE 50 50
Ol % JIE 50 50




202343 JIE =0t 243 XIJALY 3Xt =8 MlALA(CH) SZ2H

A N &
= =
3XF=F | JIZ0&t e 3X=E | JIZA| B2

5 o 88,050 | 88,050 - 5 o 88,050 | 88,050
2x34Q | 88,000 | 88,000 - | At 48,000 | 48,000
Bx34Q | 88,000 | 88,000 - | bl 43,928 | 43,928
ANZREEZ | 88,000 | 88,000 - | 2o 28,423 | 28,423
Rlg 8,737 | 8737
XY EANFYEF 3,097 3,097
NEEEER=E 3,671 | 8,671

JIEHS Y| - -

=& 460 460
J2tEgl 460 460
SSa] - -
Sl 3,612 3,612
044l 420 420
FEHH =2 2,502 2,502
HAS = 150 150
JIEt= g 540 540
3=+ - - - | M&XHEH] - -
34 - - - | AIZHI - -
N - - - | A&l - -
SR - - - | Xarzs - -
= 50 50 - | Al 40,000 | 40,000
= 50 50 - | LERAIHI 40,000 | 40,000
JIEHH 201X & 50 50 - | SEAEYI 3,000 3,000

JHE L= XA 37,000 37,000

HIHl & JIEt 50 50

oigigl & J1Et 50 50




20234 OIOIAIE B E HLFA1SE 3Xt =& Oll&bA (e B2 E

I S i = N2
3XHEE | JIF 0 = SXHEE | J1F & ==

= o 79,402 | 79,402 -| &8 o 79,402 | 79,402 -
olgx Hig4e | 1,800 | 1,800 - | A=l 66,478 | 66,478 -
olgx g+ | 1,800 | 1,800 - | o 58,824 | 58,824 -
AE0IE 22 1,000 | 1,000 - | 20 44,389 | 44,389 -
o BT 800 800 - | gz 5,154 | 5,154 -
HEDY 29l ERSZERA 409 | 4,129 -
X3 49 77,552 | 77,552 - | nagasez| 5152 | 5,152 -
HE3 49 77,552 | 77,562 ~ | sesmzy - - -

A EX3 54,846 | 54,846 - | gRF&L 500 500
NRRex2 | 22,706 | 22,706 - | azeg 400 400 -
510/ H| 100 100 -
o H| 7,154 | 7,154 -
o1t 420 420 -
s2H2 442 4,030 | 4,030 -
zzoa 2280 | 2,280 -
ERE 400 400 -
e 2| 24 24 -
s34 X &K A ] - - -
ELTEPN A& H - - -
NEELE! Al & - - -
BIXE=3= JNENE=E=T1 - - -
A2 & HI KXl - -
B 50 50 - | AretH| 12,874 | 12,874 -
Z 40l 50 50 — | ArgdHl 12,874 | 12,874 -
S 201K 42 50 50 - | soraretl | 12,874 | 12,874 -
oIl 2 JIEF 50 50 -
RS 50 50 -




2023 OIOIAIE ZBE HEFR2SHE 33X =& MANH(CH) sS=E
9 = A 9 = H =
3XHEE | JIE & = 3XtEE | 21 &0 Al =2

= o 79,202 | 79,202 -| &8 o 79,202 | 79,202
olgxHig4e | 1,600 | 1,600 - | A=l 67,934 | 67,934
olgx HiE+e | 1,600 | 1,600 - | o 58,824 | 58,824
PR 900 900 - | 20 44,389 | 44,389
o BT 700 700 - | g 5,154 | 5,154
HEDY Aol - - - |EEEEEERL 4409 | 4129
X3 49 77,552 | 77,552 - | mazazez| 5152 | 5152
HE3 49 77,552 | 77,552 ~ | Jiesmzy - -
A EX3 55,194 55,194 - | gRF&L 450 450
NR7ex2 | 22,358 | 22,358 - | smeay 350 350
519/l 100 100

S oH| 8,660 | 8,660

o1t 420 420

s2H2 422| 3867 | 3,867

znesz 3,686 | 3,686

MAZD2 347 347

e 2| 340 340

=q25+ = = - | MAtZ4H| = =
ELTEPN - - - | A&l - -
NEELE! - - ~ | nzwl - -
INEELE - - - | marzsy - -
NE=F 1=E=PN]s] - -

B 50 50 — | Argidl 11,218 | 11,218
Z 40l 50 50 ~ | AretHI 11,218 | 11,218
S 201K 42 50 50 - | sorarbl | 11218 | 11,218
olbIbI 2 JIEt 50 50

olelgl & J1Et 50 50




20234 OIOIAIEHZH HSF 3SE 3XFE flotN SZ2E
i = S i = NS

3XHEE | JIF 0 = 3XHEE | JIF 04 ==
= o 87,202 | 87,202 -| &8 o 87,202 | 87,202
Ol HIg4 600 600 - | AHRHI 69,019 | 69,019
OIEX HIg4Y 600 600 - | azb| 51,695 | 51,695
NENERSS 350 350 - | 20 39,803 | 39,803
o BT 250 250 - | gz 4,921 | 4,921
HEDY 20 - - - |EEEEERR 3707 | 3707
2E2 49 86,552 | 86,552 - | namaeez| 3044 | 3244
HE3 49 86,552 | 86,552 ~ | sesmzy - -
NZ2R 23 86,552 | 86,552 - | gRF&L 500 500
- | sizeay 400 400
N 100 100
- | 294l 17,310 | 17,310
- | o 600 600
~ | 2gu2 22| 6690 | 6,690
- | 2222 3,000 | 3,000
- | maznz 300 300
- | Jiere gl 6,720 | 6,720
sAZ40l - - - | meatEAY | 259 | 2,59
EEEPN - - - | A& 2,590 | 2,590
NEEL = - - — | e 1,300 | 1,300
INEELE - - - | merzsy 1,090 | 1,090
- A2 & HI KXl 200 200
Tagl 50 50 - | AretH| 15,057 | 15,057
Tl 50 50 - | AretH| 15,057 | 15,057
JIEHB0I K22l 50 50 - | sorarnl | 15,057 | 15,057
~ | oisiel 2 e 50 50
- olelgl & J1Et 50 50




